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10.00 mV / m/s? +5 % (1 g = 9.8 m/s?)

0.1 m/s? ~ 199.9 m/s? Peak (r.m.s. *{2)
0.1 m/s?

+(5 9% + 2 digits) (LO: 10 Hz ~ 1 kHz)
+(10 % + 5 digits) (HI: 1 kHz ~ 10 kHz)

0.1 mm/s ~ 199.9 mm/s r.m.s.
0.1 mm/s
+(5 % + 2 digits) (10 Hz ~ 1 kHz)

0.001 mm ~ 1.999 mm Peak-Peak (r.m.s. *2/2)

0.001 mm

+(5 % + 2 digits) (10 Hz ~ 1 kHz)
10 Hz ~ 15 kHz

g, m/s?

mm/s

mm

-10°C ~ 50 °C

-30°C ~ 60 °C

30 % ~ 90 % (HIS=)

2,000 m

12,000 m

IP 40

500.0 m/s? peak

Im

IEC 61326-1: SCHE TX}7|7|
Group 1, Class A

2 AAA, [ECLR 03 3 V dc
2BA|7F Ha =X

o= =5

24.1cmx7.1cmx58cm (9.5inx2.8inx 2.3 in)

220 g

AHYL 2C|Q £33 (3.5 mm QL2 E3{1)

M12 74l
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| R
®ES k] L
HZIE
7l 52 AlZE 0 -9.525 9.525 - 15.24 15.24 —
Mo yZa WE c=alo|e 0 -6.985 6.985 — 10.795 10.795 -
B 7i=Z2| Clof2E =2tole 0-5 5-17.5 5=
A= 0-8.125 8.125 — 12.7 12.7 -
AJE oy N 0-6.985 6.985 - 10.795 10.795 -
A 227|(7]ofeA et =2 SxE 0-5 5-175 1.5 -
PAER|T|(LHE T]ofetA, Satst &) 0-5 5-175 7.5 -
SUALA|T|(LHE 7|ofEtA, BHZA =) 0-381 3.81 -6.35 6.35 -
E20] (M)
2E E20] 0-15 7.5 -11.43 11.43 -
MIE 1= o 0-6.985 6.985 - 10.795 10.795 -
UbbMo| ZIF AHAA ™ 0-6.35 6.35 - 9.525 9.525 -
IXt Z7| H™ 0-6.35 6.35 - 9.525 9.525 -
e =20 0-5 5-15 7.5 -
s 9= caoE o 0 - 4.445 4.445 - 6.985 6.985 -
AFEEO| 2 FatE H 0-4.445 4.445 - 6.985 6.985 —
=5 M 0-381 3.81-6.35 6.35 —
ZE/UHT|
BE Catole 0-6.985 6.985 - 10.795 10.795 -
2 A 0-5 5-175 1.5 -

0%
0% it
N

ot 0-6.35 6.35 - 10 10 -
17171 0-5 5-15 1.5 -
a7 () 0-3.81 3.81-5.715 5.715 —
e E2E 9E7| ME: E2E 87| ME, 3500 rpm 0-6.35 6.35 - 9.525 9.525 —
e E2|E 8iFy| ME: E2E 27| NE, 1800 rpm 0 - 4.445 4.445 — 6.985 6.985 —
el Ho

£%| HI(305~508 mm =0]) 0 -9.525 9.525 - 15.25 15.25 —
£%| HIZ(203~305 mm £0]) 0 -8.255 8.255 — 12.7 12.7 -
£X| H:(127~203 mm =0]) 0-6.35 6.35 - 10 10 -
& HO(0~127 mm =0|) 0-5 5-17.5 7.5 -
QU 4o Mo 0-5 5-175 7.5 -
Holg| 33 Ho 0-5 5-1.5 7.5 -
S 0-3.175 3.175-5 5—

N
X
0
=

SE{/7|0{etA 0-25 2.5 - 4.445 4.445 —
7|0fefA U3 AfEE 0-3.75 3.15-5.715 5.715 -

7|0{HIA E3 AZE 0-25 2.5 - 4.445 4.445 —

a. %l 7t8 0 - 1.905 1.905 - 3.175 3.175 -

b. Ot22| 7+3 0-1.25 1.25 - 1.905 1.905 -

c. dHIE 0-0.76 0.76 — 1.25 1.25 -
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